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	Monday
	9.09 x 100




	4880  ÷ 2 =

	19,492 + 1009 = ?

	6994− 1110 = ?

	0.51 as a % and a fraction =


	Tuesday


	891 x 21 




	1561 ÷ 15 = 

	? + 6.63 = 7.72

	? – 100 = 9978
	Simplify in its lowest term 
21
49


	Wednesday
	728 x 22




	2.29 ÷ 10 = ?
	31.3 + ? = 199.7

	? = 9,333 − 855

	Suggest equivalent fractions of
7
8    


	Thursday
	59.8 x 1000




	1.99  ÷ 100 = ?
	? + 100 = 199.2

	6 − 4.79 =   

	The square root of 9 = 

	Friday 
	382.9 x 100 

 


	7225 ÷ 7 = ?
	299.1 + 883.9
	83.32 – 73.61  =

	27
50 as a decimal 
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